Simplification d’Expressions (E)

Simplifiez chaque expression.

Ob dau®* 4u 3au
.—_—b—i-

4au + 4 -1

VvV 1+ 106 v+ 9+ 6u+ Ty

b _18b +3ac+ (—cx)
.a-a b 3 X cx

Bu-dx*ted+l14+14c+141

T =V —Tc—Tev+9—3 —av—"Tav
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Simplification d’Expressions (E) Solutions

Simplifiez chaque expression.

Ob dau®* 4u 3au

—_b+4au+ 4 —1
=3au—+2u+9

VvV 1+ 10ur v+ 9+ 6u+ Ty
= v+ 10> +Tv+6u+10

b _18b Jr3ac+ (—cx)
.a-a —oh 3 X cxX

—=2a°b —cx* +c

Bu-dx’+c+1+14+c+1+1
= 12ux*+2c+4

T =V —Te—Tev+9—3—av—"Tav
= 7a>—v*—Tcv—8av—Tc+6
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